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Porcentajes de numeros (nimero faltante)

Nombre:

x20% = 19.8
x20% =135.4
x20% =35.2
x20% = 16.8
x 90% = 63
x20% =124
x30% =15
x 90% = 48.6
x 30% = 28.8
x 40% = 25.2

Fecha:

x 90% = 71.1
x 90% = 75.6
x 10% = 4

x 90% = 60.3
x 10% = 7.2
x 30% = 24

x 50% = 30.5
x 60% = 41.4
x 70% = 61.6
x 80% = 37.6
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Porcentajes de numeros (nimero faltante)

Nombre:

99 x 20% = 19.8

27x20% =54

26 x20% = 5.2

84 x20% = 16.8

70 X 90% = 63

62 x20% = 12.4

50 x30% = 15

54 x90% = 48.6

96 x 30% = 28.8

63 x40% = 25.2

Fecha:

79 x90% = 71.1

84 x90% = 75.6

40 x 10% =4

67 x 90% = 60.3

72 % 10% = 7.2

80 x 30% = 24

61 x 50% = 30.5

69 x 60% = 41.4

88 x 70% = 61.6

47 x 80% = 37.6

www.snowmath.com

Puntuacion:
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